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31. Which one of the following statements
about production possibility frontier is
not correct?

fa) The production possibility frontier
slopes downwards to the right as
the resources are limited.

fb) The different combinations of
various goods and services given
the available resources and
technology are denoted by the
production possibility frontier.

fc) Any point on or inside the
production possibility frontier is
attainable under the existing
technology and resources.

(d) On the production possibility
frontier, the output of one
commodity can be increased
without changing the output of
another commodity.

Ans-D



1.

EI-

(a)
(b)
fc)
(d)

32. How is the magnitude of price elasticity
for an individual good determined?

By the degree to which the good is
a necessity or luxury

By the extent to which substitutes
are available

By the rate of income growth in
the economy

By the relative importance of the
good in the consumer’'s budget

Select the correct answer using the code
given below,

1, 2 and 3
1 and 4 only
1, 2 and 4
3 and 4

Ans-C

(a)
()
(o)
(d)

33. Which one of the following functions as
an automatic stabilizer in the context
of fiscal and monetary policies of an
economy’?

Personal income tax
Reverse repo rate of bank
Open market operation

Bond price

Ans- A




34, Broadly both birth and death rates are

low in which one of the following stages
of demographic transition model?

(a)
(b)
fc)
(d)

High stationary stage
Early expanding stage
Late expanding stage
Low stationary stage

Ans-D

35. Which one of the following is a pull factor

for migration?

(a)
(b)
(c)
(d)

Natural disaster
High wage
Housing shortage
Low income

Ans-B

36. What is the depression at the top of

a volcano following a volcanic eruption
called?

(a)
(b}
(c)
(d)

Chamber
Vent
Cinder
Crater

Ans-D




aT.

In order to find out the absolute location
of a place on the map, which of the
following will be required?

(a) Latitude of the place alone
(b) Longitude of the place alone

fe) Both latitude and longitude of the
place

(d) Neither latitude nor longitude of
the place

Ans-C

39, In the course of a river, in time, which

one of the following features is formed
when the old meander is closed off by
deposition?

fa) Pothole

fb) Levee

fc) Oxbow lake
({d) Flood plain

Ans-C

40. Most of the mature Harappan sites in

the region of Cholistan had been
abandoned during

(@) C. 2250 BCE
(b) C. 2000 BCE
¢} C. 1800 BCE
{d) C. 1700 BCE

Ans-C




41, Madhyamika Karika, the basic text of
Madhyamika School, was composed by

(a) Nagarjuna

(b) Asanga

fe) Vasubandhu
fd) Dharmakirti

Ans- A

42. Which one of the following pairs of
authors and Sanskrit literary works is
not correctly matched?

fa) Somadeva : Kathasaritsagara
(b) Ashvaghosha : Buddhacharita

fe) Bilhana ¢ Vikramankadeuva-
charita
{d) Kalidasa : Vasavadatta

Ans-D

43. In the Mathura School of Art, Buddha's
images are largely carved in

fa) Dhyana Mudra
(b) Abhaya Mudra
fc) Dharmachakra Mudra
(d) Varada Mudra

Ans-B




44, The Mauryan capital of Pataliputra has

been associated with the archaeological
remains of

(a)
(b)
(c)
(d)

Bulandibagh and Rajagriha
Kumrahar and Mocharim
Kumrahar and Bulandibagh
Kumrahar and Jalalgarh

Ans-C

45. The Satavahanas are identified in the

Puranas by which one of the following
epithets?

fa)
(b)
(c)
(d)

Andhras
Shakas
Kshatrapas

Sungas

Ans- A

46. Which one of the following powers of

the Supreme Court is also conferred
on a High Court?

(a)
(b}

(e}
(d)

Advisory power

Power of doing complete justice in
any cause or matter pending before
the court

Power of court of record

Power to allow/refuse Special Leave
Petitions

Ans-C




47T7. The Constitution of India does not

guarantee which one of the following as
a fundamental right?

()
(b)
[c)
(d)

Right to equality
Right against exploitation
Right to property

Right to carry on trade and
business

Ans-C

48. Which one of the following statements

about the Supreme Court is not correct?

(a)

(b)

fc)

(c)

Under Article 129 and Article 144
of the Constitution of India, the
Supreme Court has been vested
with power to punish for contempt
of court.

The Supreme Court has been
vested with advisory jurisdiction.
The Supreme Court may refuse to
provide opinion to the President, if
so asked, in certain circumstances.
Law declared by the Supreme
Court is binding on all courts
within the territory of India.

Ans- A




49, Which one of the following statements

about Public Accounts Committee is
correct?

(a)

(b)
fc)

(d}

The Committee consists of not
more than 15 members from the
Lok Sabha and 10 members from
the Rajya Sabha.

The Finance Minister is an ex officio
member of the Committee.

A member of the Committee is
given a term for one year.

The term of the office of the
members of the Committee from
the Rajya Sabha is extended
even when they retire from the
Rajya Sabha.

Ans-C

50, Who can be appointed as a Judge of the

Supreme Court?

(a)
(b)
(c)
(d)

An advocate who has practised for
at least ten years in any court

A Judge of a High Court for at least
three years

A distinguished jurist in the
opinion of the President of India
A person who has held a judicial
office for at least fifteen years

Ans-C




56. Which one among the following
statements is not correct?

(a) When the economy grows slowly
than its potential, the
unemployment rate rises.

(b) Structural employment occurs
when jobs are eliminated by
changes in demand for particular
goods or due to automation.

fc) Recession in the economy leads to
cyclical unemployment.

(d) At full employment, the measured
unemployment rate is negative.

Ans-D

§7. The amount by which the equilibrium
level of real GDP exceeds the full
employment level of GDP is called

(a) recessionary gap

(b) inflationary gap

fc) income multiplier

(d) automatic stabilizer

Ans-B



58. For anything to be recognized as money,
it needs to have which of the following
characteristics?

1. Act as an intermediate in the
exchange process

2. Standard unit for quoting prices
3. Must be easily divisible

4, Have higher value in alternative
uses

Select the correct answer using the code
given below.

fa) 1, 2 and 4

(b} 2 and 3 only

) 1,2 and 3

({d 1,3 and 4

Ans-C



B9. The sectoral shares of Gross Value Added

(GVA) for the year 2009-10 to 2018-19
show that the share of service sector
in GVA in India has increased over the
years. Which among the following have
driven the maximum increase?

(a)

(b)

fc)

(d)

Electricity, gas, water supply and
other utility services

Trade, hotel, transport,
communication and services
related to broadcasting

Public administration, defence and
other services

Financial, real estate and
professional services

Ans-D

60. On the basis of employment conditions,

the economy is divided into

(a)
(b)
fc)
(d)

organized and unorganized sectors
private and public sectors
seasonal and disguised sectors

primary, secondary and tertiary
sectors

Ans- A




63. Which of the following main types of iron
ores are found in India?

1. Haematite

2. Magnetite

3. Limonite

4. Siderite

Select the correct answer using the code
given below.

fa) 1 and 2 only

fb) 2 and 4 only

(¢ 1,2 and 4

(d) 1 and 3

Ans- A

(a)
(b)
fc)
(d)

64. Where is Asan Conservation Reserve
located?

Himachal Pradesh
Uttarakhand
Sikkim

Arunachal Pradesh

Ans-B




Consider the following statements :

1. The early Sikh Gurus were religious
preachers and did not interfere in
politics but Guru Arjan extended
his good wishes for the rebel prince
Khusrau.

2. Guru Arjan attempted to organize
the finances by introducing the
system of more or less compulsory
‘spiritual tribute’ to be collected by
his agents called Masands.

Which of the statements given above
is/are correct?

(@) 1 only

(b) 2 only

fe) Both 1 and 2

(d) Neither 1 nor 2

Ans-C

66. Qutb Minar was originally four-storied.

Who among the following Delhi Sultans
raised the height to the structure by
adding the fifth storey?

fa) Balban

(b) Alauddin Khalji

(c) Muhammad Tughlag
(d) Firoz Shah Tughlaq

Ans-D




67. Which one of the following pairs of
Deccan Sultanates and their respective
regions is not correctly matched?

fa) Nizam Shahis : Bijapur
(b) Barid Shahis : Bidar
fc) Qutb Shahis : Golkonda

(d) Imad Shahis : DBerar

Ans- A

68. Consider the following statements :

1. Under Akbar, the system of Zabt
was established over a large area
from Punjab to Awadh.

2. In the seventeenth century North
India, the system of Zabt lost much
ground to the system of Kankut.

Which of the statements given above
is/are correct?

fa) 1 only

(b) 2 only

fe) Both 1 and 2

{d) Neither 1 nor 2

Ans-C



69. Who among the following warned
his colleagues that the Constituent
Assembly was British made and was
“working the British plan as the British
should like it to be worked out™?

fa) Somnath Lahiri
(b) B. R. Ambedkar

fe) Shyama Prasad Mukherjee

({d] B. N. Rau

Ans- A

T0. Who among the following fixes the date
of election of the Speaker of the
Lok Sabha?

fa) The President of India

fb) The Minister of Parliamentary
Affairs

{c) The Secretary General of the Lok
Sabha

(d] The Deputy Speaker of the Lok
Sabha

Ans- A



71. Which one of the following statements
about ‘personal liberty’ is not correct?
fa) State does not have the authority

to deprive any person within the
territory of India of his/her
personal liberty without any
rational basis.

(b) Basis of depriving a person of
his/her personal liberty must be
in accordance with procedures
established by law.

fc) Personal liberty can be secured by
the judicial writ of Habeas Corpus.

fd) The majority view of the Supreme
Court in A. K. Gopalan vs. State of

Madras case invented ‘due process
of law’.

Ans-D

72. Which one of the following statements

with regard to the Directive Principles

of State Policy is not correct?

fa) They are not enforceable in a court
of law.

fb) They can override all the
fundamental rights.

fc) They can be related to social and
economic justice.

fd) They can be related to giving free
legal aid.

Ans-B



73. Which one of the following statements

with regard to the Preamble to the

Constitution of India is not correct?

fa) The term ‘Secular Democratic
Republic’ was not there in the
Preamble originally.

fb) The Preamble contains the basic
structure of the Constitution of
India.

() By itself, the Preamble is not
enforceable in a court of law.

(d) The Supreme Court has held that
the Preamble cannot be considered
as an aid to the legal interpretation
of the Constitution, where the
language is ambiguous.

Ans-D

74. The Electoral College for electing the

President of India does not include
which of the following?

1. All elected members of the Rajya
Sabha

2. All elected members of the
Legislative Assemblies of States

3. All members of the Legislative
Councils of States

Select the correct answer using the code
given below.

fa) 1 and 2

fb) 2 and 3

fc) 3 only

(d} 2 only

Ans-C




fc)

83. Caves, arches, stacks and stumps are
the landscape features of which one of
the following?

fa) River

(b) Wave

Limestone

(d) Wind

Ans-B

1.

(a)

(b)

(e)

(d)

84. Which of the following statements about
tropical rain forests are correct?

The soils of tropical rain forests are
quite infertile.

The wvegetation is evergreen,
enabling photosynthesis to take
place year around.

They have been described as
‘deserts covered by trees’.

They are most productive land-
based ecosystem. 3

Select the correct answer using the code
given below.

2 and 4 only

1, 3 and 4 only

1, 2 and 3 only

1,2, 3 and 4




Ans-D

85. In which one of the following soils, the
salt content is so high that common salt
is obtained by evaporating the saline
water in some areas?

{a) Peaty soil
{b) Alluvial soil
fe) Laterite soil

(d) Arid soil

Ans-D



1.

(a)

(b)

(d)

86. Which of the following statements about
Akbar are correct?

In 15608, Akbar had the Fort of
Agra constructed.

In 1570s, Akbar decided to build
a new capital at Fatehpur Sikri.

Akbar also commissioned a white
marble tomb of Shaikh Salim
Chishti at Sikri.

In 1585, Akbar decided to shift the
capital back to Agra.

Select the correct answer using the code
given below.

1, 2 and 4

1, 2 and 3

fcg 2,3 and 4

3 and 4 only

Ans-B




87. Which of the following statements
about Amaranayakas of Vijayanagara
are correct?

1. The Amaranayakas were military
commanders who were given
territories to govern by the Raya.

2. In lieu of their service and also
to maintain their contingents, they
were paid in cash.

3. They maintained stipulated
contingents and elephants.

4, They used to send tribute to the
king annually and personally
appeared in the royal court with
gifts to express their loyalty.

Select the correct answer using the code
given below.

fa) 1, 2 and 3 only

(b) 1, 3 and 4 only

fe) 2 and 4 only

(d 1,2, 3 and 4

Ans-B



88. Which of the following pairs is/are

correctly matched?
1. Permanent Settlement: Lord

Cornwallis
2. Ryotwari Settlement : Thomas
Munro
3, Mahalwari Settlement : Holt
Mackenzie

Select the correct answer using the code
given below.

fa) 1 only

() 1 and 2 only
fc) 2 and 3 only
fd) 1,2 and 3

Ans-D

89. Who among the following assumed the

title of Nizam-ul-Mulk Asaf Jah to set
himself up as an independent ruler
with his base in Hyderabad?

fa) Kartalab Khan
(b) Bahadur Shah
fc) Alivardi Khan

(d) Chin Qilich Khan

Ans-D




90. Which one of the following fundamental

rights has not been provided to a
person?

(a)

(b)

fc)

(ci)

Protection against prosecution and
punishment for the same offence
more than once

To refuse to give his/her sample of
handwriting as evidence to support
a prosecution against him/her

To act as a witness against
himself/ herself

Right not to be convicted of any
offence except for violation of a law
in force at the time of commission
of the act charged as an offence

Ans-C

91. The

Constitution of India contains

no provision for the constitution of
municipalities in every State for

fa) a Nagar Panchayat

fb) a Municipal Council

fe} a Municipal Corporation

(d)

an Urban Panchayat

Ans-D




92. Consider the following quote :

“On the 26th January, 1950, we are
going to enter a life of contradictions.
In politics we will have equality and in
social and economic life we will have
inequality.”

To whom among the following leaders is
this quote attributed?

fa) Mahatma Gandhi
(b) Sarojini Naidu

(c) B. R. Ambedkar
fd) Somnath Lahiri

Ans-C

93. Which one of the following powers has

not been conferred on the President of
India?

(a) Appointment of Prime Minister

(b) To decide at his/her discretion any
question regarding disqualification
of a Member of the Parliament

fe) To grant pardon to a person who
has been punished by a court-
martial

({d) To remove a Judge of the High
Court

Ans-B




94, Which one of the following statements
with regard to Maneka Gandhi vs.
Union of India case, 1978 is not correct?
fa) It was held that Article 19 and

Article 21 are not watertight
compartments.

(b) 1t was held that a law coming under
Article 21 may not satisfy the
requirements of Article 19.

fe) A fair trial eliminates the biases
against the accused in the trial.

{d) The right to life under Article 21
does not include the right to die.

Ans-B

99. In India, Cardamom Hills are regarded as
a continuation of the

fa) Eastern Ghats
fb) Mizo Hills
fe) Naga Hills
(d) Western Ghats

Ans-D



100. Match List-1 with List-Il and select the
correct answer using the code given
below the Lists :

List-I List-IT

(Tributary) (River)
A. Sutlej 1. Yamuna
B. Kosi 2. Brahmaputra
C. Teesta 3. Ganga
D. Chambal 4. Indus
Code :
)oKy B oo™ D

1 3 2 4
@A PBri G aD

1 2 3 4
@ A B C D

4 3 2 1
MKW e e

4 2 3 1

Ans-C

101. Which one of the following is the only
riverine major port in India?
fa) Mormugao
{b) Deendayal
fc) Kolkata
(d) Paradip

Ans-C



102. Which one of the following is not a desert
river?
(a) Barak
{b) Rupen
fc) Banas
(d) Machchhu

Ans- A

103. The heaviest rocks, which are rolled
along the river bed in river transport,
come under which type of load?

fa) Solution load
(b) Suspension load
(c) Saltation load
(d) Traction load

Ans-D

104. Which of the following factors are needed
for the growth of corals?

1. Freshwater
2. Clear shallow salt water

3. Plenty of sunlight for photo-
synthesis

4. Warm water between 23 °C and
25°C

Select the correct answer using the code

given below.

fa) 1, 3 and 4 only

(b) 2, 3 and 4 only

fe) 1 and 2 only

(d 1,2 3 and 4

Ans-B



108. Convection currents, which move the

tectonic plates, are found in which layer
of the earth?

(a)
(b)
fc}
(d)

Crust
Mantle
Outer core
Inner core

Ans-B

'1+

106. Consider the following statements :

The growth of socialist tendency
in the national movement led to
the foundation of the Congress
Socialist Party in 1934 under the
leadership of Acharya Narendra

Deva and Jayaprakash Narayan.

In 1936, Jawaharlal Nehru urged
the Congress to accept socialism
as its goal and to bring itself closer
to the peasantry and the working
class.

Which of the statements given above
is/are correct?

(a)
(b)
(e}
(d)

1 only

2 only

Both 1 and 2
Neither 1 nor 2

Ans-C




107. Initially, what was the purpose of
setting up of the hill stations during
the colonial period in India?

fa) To serve as winter capitals for the
British

fb) To serve the needs of the British
army

fc) To source timber from forests

{d] To set up sanatoria

Ans-B

108. Who among the following founded the
Dharma Sabha?

fa) Krishna Mohan Banerjee
(b) Keshab Chandra Sen
fc) Radhakanta Deb

(d) Akshay Kumar Datta

Ans-C



(@)
(b)

(d)

109. Consider the following Jat peasant
leaders of 17th and early 18th

centuries :

1. Badan Singh
2. Raja Ram Jat
3. Gokula Jat

4. Churaman .Jat

Which one of the following is the correct
chronological order of the above
leaders?

3-2-4-1
1-2-3—4

fe) 3-4-1-2

2-3-1-4

Ans- A

(@)
(b)
()
(d)

110. Who among the following Bhakti saints
did not belong to Nirguna School of
Bhakti?

Kabir
Nanak
Dadu

Chaitanya

Ans-D




112. E-100 pilot project, launched in Pune in

June 2021, is related to the production
and distribution of

fa) COVID vaccine

{b) ethanol

fc) electric vehicle

({d) ethane

Ans-B

113. On the occasion of the World

Environment Day, 2021, which one of
the following was declared as a National
Park in India?

fa) Raimona

(b) Orang

fc) Dibru-Saikhowa

(d) Nameri

Ans- A




115. Heron drones, inducted by Indian

forces for enhancing their surveillance
capabilities, are acquired from

fa) USA
fb) Russia
fe) lIsrael

(d) Japan

Ans-C

119. Who among the following was the Head

of the Expert Committee on Variable
Capital Company in India which has
submitted its report recently?

fa) K. P. Krishnan
(b) Ketan Dalal

(c) J. Ranganayakulu
(d)] Bobby Parikh

Ans- A

120. Which one of the following States ranked

first on Sustainable Development
Goal India Index, 2020-21 released by
NITI Aayog?

{a) Himachal Pradesh
(b) Tamil Nadu

fc) Kerala

(d) Goa




Ans-C

123. Scientists at CSIR-NCL Pune, with
support from the Water Technology
Initiative of the Department of Science
and Technology (DST), Government of
India, have recently developed a novel
hybrid technology to bring safe and
healthy drinking water. What is the
name of the hybrid technology?

fa) SafeWater
(b) SWASTIIK
fc) Arsiron Nilogon

(d) Fluoride Nilogon

Ans-B
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7. The boundary layer of the forest at

which the energy exchange occurs
and some insolation is returned directly
to space is

fa) forest floor
(b) forest soil
(c) forest canopy

(d) forest litter

Ans-C

16. One way of incorporating desired

characters into crop varieties 1is
hybridization. In this process, there is
crossing between genetically dissimilar
plants. Which one of the following
crossings will not refer to hybridization?

(a) Intervarietal
(b) Interspecific
(c) Intergenic

(d) Intragenic

Ans-D




17. Depending on the requirements,
plant nutrients are classified as
micronutrients and macronutrients.
Which one of the following is an
example of a macronutrient?

fa) Manganese
(b) Copper
fe} Magnesium

(d] Chlorine

Ans-C

46. The technology known as ‘Electro-
magnetic Air Lift System’ is sometimes
talked about in reference to

fa) launching guided missiles from
silos

fb) launching aircraft from warships

fe) navigation of nuclear-powered
submarines

{d) development of reusable rockets

Ans-B



47 -

Consider the following statements :

1. Aluminium powder is used as
a solid fuel for rocket engines.

2. Compared to liquid fuel propelled
rocket engines, the thrust per
amount of fuel burned is higher
in solid fuel propelled rocket
engines.

Which of the statements given above
is/are correct?

fa) 1 only

(b) 2 only

fey Both 1 and 2
fd) Neither 1 nor 2

Ans- A

48. Consider the following missiles :

1. Agni-l
2. BrahMos
3. Dhanush

Which of the above is/fare cruise
missile /missiles?

(a) 1 and 2
(b) 2 only
fc/ 1 and 3
idl 3 onlv

Ans-B




49, With reference to India’s defence,

consider the following helicopters :

1. Cheetah

2. Chetak

3. Rudra

Which of the above has/have turret

gun, rocket system and air-to-air
missile?

fa) 1 and 2
(b} 2 only
fe}] 1and 3
{d) 3 only

Ans-D

51. Which one of the following artworks

was hailed by Sister Nivedita as the
first masterpiece of Indian art’ ?

{a) Bharatmata by Abanindranath
Tagore

(b) Arjuna and Subhadra by Raja Ravi
Varma

[c) Sita in Captivity in Lanka by
Abanindranath Tagore

(d} Sati by Nandalal Bose

Ans- A




53. Which one of the following statements is

not true with regard to tribal welfare?

(a)

(b)

fc)

fdj

The Comprehensive Tribal
Development Programme aims
at land development activities,
improvement of roof houses,
infrastructure development and
S0 on.

As per the Scheduled Tribes and
Other Traditional Forest Dwellers
Act, villages in forests are provided
with community rights.

The Special Area Development
Programme aims at distribution of
forest area produces to the tribals
equitably.

The Special Central Assistance to
Tribal Subplan provides dairy cows
to tribal groups living below the
poverty line.

Ans-C




(b)

fc)

(d)

54, Which one of the following statements
is not correct?

fa) The ‘Swarna Jayanti Shahan

Rozgar Yojana’ is an urban
self-employment programme.

Drought-Prone Area Programme
and Desert Development

Programme were launched in
1970s.

The ‘Sampoorna Grameen Rozgar
Yojana' was launched after
restructuring the Integrated Rural
Development Programme’ in 2001.

The ‘Swarna Jayanti Gram
Swarozgar Yojana' is a rural self-

employment programme.

Ans-C

B85. The

Battle of Rakshasi-Tangadi

popularly known as the

(@)
(b)
(c}
(d)

Egtt]l: of Talikota
Battle of Khanwa
Battle of Panipat

Battle of Dharmat

Ans- A




86. Ashokan inscriptions in Afghanistan are
written in which one of the following

scripts?

(a)
(b)
(e}
(d)

Brahmi

Sharada

Kharoshthi

Greek-Aramaic

Ans-D

57. Which one of the following statements

about coins struck during 200 BCE to

300
not

(a)

()

(c)

(d)

CE in the Indian subcontinent is
correct?

The Indo-Greeks introduced
bilingual and biscript legends on
their coins.

The Kushanas minted large
quantities of gold coins as well as
copper coins of low denomination.

The Satavahanas issued coins of
silver, copper, lead and potin.

Absence of Negama coins suggesis
the declining power and authority
of merchant guilds.

Ans-D




below the Lists :

List-1
(Vedic name
of river)

Drishadvati
Askini
Vitasta

v Howpe

Purushni

g
m

g

W W B NP
-
=y A EO . =1

(b)

fc)

(d)

+ @

58. Match List-1 with List-Il and select the
correct answer using the code given

List-IT

(Modern name)

ND ND WD LD

1
2
3.
4

Chenab
Chautang
Ravi
Jhelum

Ans-B

correct?

current.

ocean current.

ocean current.

ocean current.

60. Which one of the following is not

fa) The Gulf Stream is a warm ocean

(b) The North Atlantic Drift 18 a warm

fe) The Labrador Current is a cold

(d) The California Current is a warm

Ans-D




61. Which of the following statements about

maps are correct?

1.

Maps that maintain the true

shapes of areas are known as

conformal maps.

Maps are used to show spatial

relationships.

Maps cannot show route from one

place to another.

Select the correct answer using the
code given below.

fa) 2 and 3 only

()
(e}

1 and 3 only
1 and 2 only

{d) 1,2 and 3

Ans-C

62. Which one of the following statements

about ‘great circle’ is not correct?

fa)

(b}

(e}

(d)

Every great circle divides the Earth
into equal halves.

Every great circle is a
circumference of the Earth.

Great circles mark the longest
travel routes between locations on
the Earth's surface.

Great circle is the largest circle
that can be drawn around the
Earth through two particular
points.

Ans-C




63. Which one of the following statements
is correct with reference to normal
lapse rate?

(a) Temperature is highest at ground
level and decreases with increasing
altitude.

(b) Temperature is lowest at ground
level and increases with increasing
altitude.

fc) Temperature remains stable with
increasing altitude.

(d) Temperature first increases with
increasing altitude and gradually
starts decreasing.

Ans- A

65. The landmark case of D. C. Wadhwa vs.
State of Bihar in the Supreme Court 1s
related to which one of the following
powers of the Governor?
fa) To repromulgate ordinances
(b) To appoint a Chief Minister
fc) To grant pardon, etc.

{d] To revise the emoluments and
allowances of the MLAs

Ans- A



68. Which one of the following is not

a feature of Indian federalism?

(a)

(b}

(e)

(d)

Courts can interpret the
Constitution and powers of
different levels of the Government.

Sources of revenue for the
Union Government and the State
Governments are specified.

Powers of the Union and the States
are specified in the Constitution.

Indian federalism is based on the
principle of Separation of Powers.

Ans-D

1.

(a)

fd)

69. Consider the following statements :

The early Malwa school of paintings
was influenced by Shirazi school
while the early Mughal paintings
initially followed Bihzad school.

The major exponents of Bihzad
school in India were Sayyid Ali and
Abdus Samad.

Which of the statements given above
is/are correct?

1 only

(b) 2 only

f¢) Both 1 and 2

Neither 1 nor 2




Ans-

c

T0.

Which of the following statements
about ‘Ek Bharat Shreshtha Bharat’
programme is/are correct?

1. It was announced in the year 2014.

2. Its aim is to create an environment
which promotes learning between
the States by sharing best practices
and experiences.

Select the correct answer using the
code given below.

fa) 1 only
(b) 2 only
fe) Both 1 and 2

(d) Neither 1 nor 2

Ans-B

73. °

The Kh-47M2 Kinzhal', a nuclear-
capable hypersonic missile, belongs to
which one of the following countries?

fa) China
{b) France
(e} Russia
fd) USA

Ans-C




74. Mariupol city, frequently mentioned in
news in the context of Russia-Ukraine
conflict, is situated on the coast of

(a) Aral Sea

(b} Baltic Sea
fe) Caspian Sea
({d) Sea of Azov

Ans-D

75. Recently, with which one of the
following countries did India sign the
‘Comprehensive Economic Partnership
Agreement’ ?

(a) Egypt
(b) lsrael
fe) South Africa

(d) United Arab Emirates

Ans-D



77. Which of the following statements about
‘Agency Houses' is/are correct?

1. They were important commercial
formations in the late eighteenth
and nineteenth century India.

2. The operation of managing agencies
remained confined to Calcutta.

Select the correct answer using the
code given below.

fa) 1 only

(b) 2 only

fc) Both 1 and 2

f{d) Neither 1 nor 2

Ans- A

T8. Which one of the following statements
about Tolkappiyam is not correct?

fa) It is a treatise on grammar.

(b) 1t was composed between first to
fourth century CE.

fe) 1t was part of the Sangam corpus.

(d) It was composed by Panini.

Ans-D



(a)

(b)

fc)

(d)

79. Which one of the following statements
about Princely States’ in India is not
correct?

The British Government declared
that States were free to join
either India or Pakistan or remain
independent.

The decision to join either India
or Pakistan or remain independent
was left not to the people of
Princely States but to the Princely
Rulers.

The Ruler of Travancore first
decided to remain independent.

The State of Travancore (finally
joined India through a plebiscite.

Ans-D

(a)
(b)
(c)
(d)

80. Which one of the following books was
authored by Harshavardhana?

Harshacharifta
Kadambari
Ratnavali

Gitagovinda

Ans-C

(a)
(b)
(c)
(d)

81. The King of Dance’ is a description of

Trimurti at Elephanta Caves
Kalivamardan of Krishna
Bodhisattva Maitreya at Gandhara
Bronze Nataraja of the Cholas

Ans-D




82. Anasagar Lake is located in which one
of the following States?

fa) Gujarat

fb) Uttarakhand
(c) Rajasthan
fd) Karnataka

Ans-C

84. Ganga water is being shared at Farakka
with which one of the following
countries?

(a) Nepal
(b} Bhutan
fc) Bangladesh

(d) Myanmar

Ans-C

85. Which one of the following is a part of
Deccan Plateau?

(a) Aravalli Hills
(b) Karbi Anglong Hills
(c) Shivalik Hills

fd) Vindhyan Hills

Ans-B



86. In which one of the following States,
more than 50% area is under Jhum
cultivation?

{a) Manipur
{b) Assam
fe) Sikkim

(d) Mizoram

Ans-D

87. ‘Dhivehi’ is a principal language of which
one of the following Union Territories?

fa) Puducherry
(b) Ladakh
fc) Lakshadweep

(d) Jammu and Kashmir

Ans-C

B88. Which of the following is/are source/
sources of Law in India?

1. Constitution of India
2. Statutes

3. Customary Law

4, Case Law

Select the correct answer using the
code given below.

fa) 1 only
(b) 1, 2 and 4 only

fe} 2 and 3 only
fd) 1,2, 3 and 4




Ans-D

89. Which among the following is/are the

function/functions of the Cabinet
Secretariat?

1. To ensure interministerial coordi-
nation

2. Management of major crisis
situations in the country

Select the correct answer using the
code given below.

fa) 1 only

fb) 2 only

fe} Both 1 and 2
{d) Neither 1 nor 2

Ans-C




1.

(a)
(b)
(c)

(d)

90. Which of the following statements about
the Committee on Public Undertakings
is fare correct?

There are more members from the
Rajva Sabha than the Lok Sabha
in the Committee.

The Chairperson of the Committee
is appointed by the Speaker of
the Lok Sabha.

Select the correct answer using the
code given below.

1 only
2 only
Both 1 and 2

Meither 1 nor 2

Ans-B

(a)

(b)

(c)

(d)

91. Which one of the following statements
is not correct?

A censure motion can be moved
against a single Minister of the
Council of Ministers.

A motion of no-confidence cannot
be moved against the Prime
Minister alone.

A censure motion cannot be
moved against the entire Council
of Ministers.

A censure motion can be moved
against a group of Ministers.




Ans-C

92. Which one of the following is not

a thrust area of the ‘Atal Mission
for Rejuvenation and Urban Trans-
formation (AMRUT)' ?

(a)
(b)

fc)

(d)

Water supply

Storm water drainage to reduce
flooding

Motorized wurban transport and
capacity building

Green spaces and park

Ans-C

93. Nowadays, ‘mnonfungible tokens’ are

talked about in the context of

(a)
(b)

(e}

(d)

digital assets on a blockchain

operations of ‘banking correspon-
dents’ in rural areas

multifactor authentication security
requirement in banking trans-
actions :

transactions through ‘small finance
banks'

Ans- A




94. The term ‘Sagittarius A®’, sometimes
mentioned in news, refers to

(a) a supermassive black hole in our
Milky Way Galaxy

fb) two giant black holes spiralling
around each other several light-
years away from the Earth

fe/) a Supernova explosion seen in
real time for the first time ever
by scientists

(d) a huge asteroid that passed by very
close to the Earth

Ans- A

95. Consider the following statements with
reference to the latest guidelines issued
by the Indian Computer Emergency
Response Team (CERT-In) :

1. Data centres and service providers
shall compulsorily report cyber
security breaches within 24 hours.

2. Virtual Private Network providers
shall retain user data for at least
five years and share records with
authorities when required.

Which of the statements given above
is/are correct?

(@) 1 only

(b} 2 only

fcy Both 1 and 2

{d) Neither 1 nor 2

Ans-B



96. The

(a)

(b)

(e}

(d)

principle of ‘common  but

differentiated responsibilities and
respective capabilities’, often talked
about in media, refers to

WHO's CoviD-19 Global
Vacecination Drive

contributions to the International
Monetary Fund

reduction of greenhouse gas
emissions

contributions to the United Nations
Peacekeeping Operations

Ans-C

(a)
(b)
(c)

(d)

97. With reference to Indian economy, the
term ‘bad bank’, frequently mentioned
in news, refers to

an asset reconstruction company
an asset management company -

a bank with huge monperforming
assets’

a bank that has become i_nsu]m:nt

Ans- A

fb)

(e}

(d)

98. Which one of the following was not
a feature of the art of painting in India
in the 19th century?

(a) Art was being produced for the

open market.

The artist (Shilpi) became distinct
from the artisan (Karigar).

The technique of oil painting was
developed.

The distinction between elite and
popular art widened.




Ans-D

99. As part of the Look/Act East Policy,
which one of the following capitals of
North-East Indian States is proposed
to be connected with Bangladesh via
rail route?

fa) Agartala
(b) Kohima
fc) Imphal

fd) ltanagar

Ans- A

100. Which one of the following is correct

in respect of the appointment of
District Judges?

fa) They are appointed by the
Chief Justice of the concerned
High Court.

(b) They are appointed by the
President of India on the advice of
the Chief Justice of the concerned
High Court.

fc) They are appointed by the Governor
in consultation with the High Court
of the concerned State.

(d} They are appointed by the Supreme
Court on the advice of the
concerned High Court.

Ans-C



101. Consider the following historical events
in India carefully :

1. The Indian press failed to protest
against the Vernacular Press Act
of 1878.

2. The Vernacular Press Act of 1878
was introduced by Viceroy Lytton
against the counsel of his own Law
Member.

Which of the above is/are correct?

fa) 1 only

{b) 2 only

fc) Both 1 and 2
({d) Neither 1 nor 2

Ans-B

102. Which of the following pairs of years and
historical events is correctly matched?

fa) 1878 : Second Anglo-Afghan War
(b) 1885 : TMbert Bill Controversy
fe) 1785 : Fox's India Bill

{d) 1898 : Lord Curzon becomes
the Viceroy

Ans- A



103. Which of the following sets of Indian

States are landlocked and do not have

an

(@)

(b)

fc)

(d)

international boundary?

Andhra Pradesh, Chhattisgarh,
Haryana, Jharkhand and Madhya
Pradesh

Chhattisgarh, Haryana, Jharkhand,
Madhya Pradesh and Telangana

Chhattisgarh, Haryana, Himachal
Pradesh, Madhya Pradesh and
Telangana

Andhra Pradesh, Chhattisgarh,
Haryana, Himachal Pradesh and
Madhya Pradesh

Ans-B

104. Arrange the following passes from West

to East direction :

1

2
3.
4

Bara Lacha La
Shipki La
Jelep La
Bomdi La

Select the correct answer using the
code given below.

(a)
(b)
fe)
(e

1-2-3-4

1-3-2-4

2-34-1

2-4-3-1

Ans- A




105. Which of the following statements is/are
correct?

1. The jet streams are high altitude
easterly winds.

2. El Nifio is a warm ocean current.

3. El Nific appears along the Peru
coast,

Select the correct answer using the code
given below.

fa) 1 only
(b) 2 and 3 only
feg 1 and 3 only

fd 1,2 and 3

Ans-B



106. Match List-I with List-II and select the
correct answer using the code given
below the Lists :

List—I List—II
(Type of plain) {Characteristic

Sfeature)

A. Bhabar 1. Marsh
B. Bhangar 2. Silt
C. Khadar 3. Gravels
D. Delta 4. Kankar
Code :
fa) A B i

3 2 & 1
g KiFR C D

3 4 2 1
o} REB o n D

1 4 2 3
fdl A B L D

1 2 4 3

Ans-B

107. A non-banking financial company
cannot
(a) give loans
{b) make investments
fe)} borrow from bank
(d) seek demand deposits from public

and cannot issue cheques

Ans-D




108. The

(a)
(b)
(c)

(d)

recommended the insertion of which
one of the following provisions into
the Constitution of India?

Swaran Singh Committee

Doctrine of Pleasure
Fundamental Duties

Nomination of Anglo-Indian
Members to the Lok Sabha

Impeachment of the President of
India

Ans-B

109. The

(a)
(b)
(c)
(d)

proceeds from disinvestment are

included as

non-tax revenue
revenue receipts
capital receipts

tax revenue

Ans-C

fa)
(b)
fe)

(d)

110. GST is afan

destination-based consumption tax
origin-based production tax

destination-based sales tax on
transaction

origin-based tax on sales
transaction

Ans- A




112. Based on the scoring on SDG

(Sustainable Development Goals) India
Index, the NITI Aayog has classified
various States into certain categories.
Which one of the following is not one
of the categories?

fa) Aspirants
(b) Performers
fc) Fast runners

fd) Achievers

Ans-C

113. Who among the following is credited with

the introduction and popularization of
Dhrupad form of music?

fa) Raja Man Singh Tomar of Gwalior
(b) Tansen
fe) Naik Gopal

{d)] Shaikh Bahauddin of Barnawa

Ans- A




115. Which one of the following cities on
the banks of Ganges declined in
importance when the railway link to
Bombay started operating?

fa) Benaras
fb) Kanpur

fe) Mirzapur

fd} Patna

Ans-C

116. When was the first All India Census
attempted?

fa) 1871
fb) 1872
[c) . 1881

(d) 1861

Ans-B



118. Match List-1 with List-Il and select the
correct answer using the code given
below the Lists :

List-I List-IT
(Regional block) {Headquarters)
A, ASEAN 1. Brussels
B. CIS 2. Vienna

C. EU 3. Minsk

D. OPEC 4, Jakarta
Code :

{a) A B C D
4 3 1 2
(b) A B C D
4 1 3 2

fc) A B C D
3

fd} A B C D

Ans- A

119. Solifluction is a geomorphic process
involving a special type of soil flow that
is noticed in

fa) desert regions
{b) karst regions
fc) permafrost regions

fd) savanna regions




Ans-C

the

1.

(a)
(b)
(c)
(d)

121. Which of the following statements about

Border Roads Organization [(BRO)

is/are correct?

BRO is concerned with the
construction and maintenance of
roads in strategically sensitive
areas.

BRD undertakes snow clearance in
high altitude areas.

Select the correct answer using the code
given below.

1 only
2 only
Both 1 and 2

Meither 1 nor 2

Ans-C

124, What

(a)
(b)
(c)
(d)

iz the term of office of the

Chairperson and Members of the
National Human Rights Commission?

S years or up to 70 years of age
3 years or up to 70 years of age
5 years or up to 65 years of age

3 years or up to 65 years of age

Ans-B




125. Which of the following sets of nations are
members of the BIMSTEC Initiative?

(a) Bangladesh, Bhutan, Nepal, India
and Sri Lanka

(b) Bangladesh, Bhutan, Nepal, India,
Sri Lanka, Thailand and Myanmar

{c) Bangladesh, Bhutan, Nepal, India,
Sri Lanka and Maldives

(d) Bangladesh, Bhutan, Nepal, India,
Myanmar, Sri Lanka and Indonesia

Ans-B

UPSC CAPF 2023



1.

(a)
(b)
le)
(d)

8. Which of the following statements about
National Emergency is/are correct ?

A Proclamation of Emergency may be
made by the President only when the
security of India or any part thereof is
threatened by war or external
aggression or armed rebellion.

The Government of India acquires power
to give directions to a State on any
matter.

The Proclamation of Emergency does not
suspend the State legislature.

The Proclamation of Emergency can
continue for a maximum period of six
months at a time only if approved by
resolutions of both the Houses of
Parliament.

Select the correct answer using the code given
below :

1 only
1 and 2 only
1, 2 and 3 only

2,3 and 4 only

Ans -D




Tﬂ

Which one of the following statements with
regard to the impeachment of a Judge of the
Supreme Court of India is not correct 7

(a) A motion addressed to the President,
signed by at least 100 members of both
the Houses of the Parliament is
delivered to the Speaker.

(b) The motion is investigated hy a
Committee of three (2 Judges of the
Supreme Court and a distinguished
Jurist).

(c) If the Committee finds the Judge guilty
of misbehaviour or that he suffers from
incapacity, the motion together with the
report of the Committee is taken up for
consideration in the House where the
motion is pending.

(d) The Judge will be removed after the
President gives his order for removal.

Ans- A

8.

Which of the following are India’s G20
priorities ?

1. Green Development

2. Women-led Development

3. Climate Finance

4. Digital Public Infrastructure

Select the correct answer using the code given
below:

(a) 1and 2 only
(b) 1,2 and 3 only
(e) 3 and 4 only

(d) 1,2,3and4




Ans-D

1.

9.  Which of the following are the objectives of
SAARC ?

To promote the welfare of the peoples of
South Asia and to improve the quality of
life

To promote and strengthen collective
self-reliance among the countries of
South Asia

To contribute to mutual trust,
understanding and appreciation of one
another’s problems

To work towards ending cross-border
terrorism

Select the correct answer using the code given

below :

(a) 1and 2 only

(b) 1,2 and 3 only

fe) 1,2,3and 4

(d) 3and 4 only
Ans-B

(a)

(b)
(c)

(d)

10. Pure, demineralized water, free from all
soluble mineral salts is obtained by which of
the following method ?

Passing water through microfiltration
membrane

Calgon's method

Passing water through a cation
exchange and an anion exchange resin
bed

By boiling

Ans-C




12.

Which one of the following statements is not
correct regarding the setting of cement 7

(a)

(b)

(c)

(d)

The addition of a small percentage of
gypsum (CaSO,) lengthens the setting
period of cement.

According to the colloidal theory, gels of
hydrated silicates are formed and when
these gels harden, the set cement loses
strength.

Tricalcium silicate is responsible for
initial setting of cement.

Dicalcium silicate and tricalcium silicate
are responsible for the final strength
which occurs in about a year.

Ans-B




1.

(a)
(bl
(el

(d)

15. Consider the following observations about the
largest stupa at Sanchi :

Going by information available from the
inscriptions on the railings of the stupa,
the construction of part of one of its
gateways was financed by the Guild of
Ivory workers.

In its original early form, this stupa was
plain except for the stone railings and
the gateways, which were richly carved.

The panels on the four gateways contain
sculptures only in the front and have no
sculptures on the rear side.

In 1918, when the stupa was discovered,
all of its four gates were intact but the
mound was in poor condition.

Art historians have established clear
connections between the sculptures of
the stupa with events desecribed in
Jataka Tales.

War scenes have also been depicted in
these sculptures.

Which of the observations given above are
correct ?

1, 2, 3 and 4 only
2,3, 4 and 5 only
3,4, 5 and 6 only

1,2, 5 and 6 only

Ans-B




16. Which of the following pairs are correctly

matched ?
(Inscription /| Event) (Time Period)
1. Prayag Prashasti : 4t century CE
by Haricshena
2. Chinese traveller : 6t century CE
Fa Xian's Account
3. Mudrarakshasaof : 5% century CE
Vishakhadatta
4. Harshacharitaof : 6 century CE
Banabhatta
5. Aihole Prashasti of : 7thcentury CE
Ravikirti
6. Kavirajamarga of :  8th century CE
Amoghavarsha
Select the correct answer using the code given
below :

(a) 1,2 and 3 only
(b) 2,3 and 4 only
(e) 4,5 and 6 only
(d) 1,3 and5 only

Ans-D

17. Which one of the following statements is

correct 7

(a) Brahmi, used for writing many Ashokan
inseriptions, shows local variations.

(b) The system of hieroglyphic writing was
developed in ancient Mesopotamia.

(¢} The system of cuneiform writing
developed around 3™ millennium BCE
in Egypt.

(di An ancient seript, Kharoshthi was
widely used in the southern part of
India.

Ans- A



18.  Which one of the following activities was not a
part of the daily time-table for a King as
prescribed in Arthashastra ?

(a)

Receive reports on defense

(b)  Visit the town incognito

(e} Receive revenue in cash

(d) Consult his Council of Ministers
Ans-B

{a)

(b)

{;}

(d)

25. The focus of the Second Five Year Plan was :

establishment of a self-reliant and
self-generating economy with emphasis

on agriculture.

rapid industrialization with emphasis on
the development of basic and heavy
removal of poverty and attainment of
self-reliance.

acceleration of food-grain production and
increase in employment opportunities

and overall productivity.

Ans-B




o

F|26. An Indian businessperson buys shares in a
British car company. This transaction will be
reflected in :

b
(a) Balance of Trade, but not in Balance of

Payments.

L .

(b) Balance of Payments, but not in Balance
of Trade.

0 (¢) both Balance of Payments and Balance

of Trade.
(d) neither Balance of Payments nor
Balance of Trade.
Ans-B
27. Which of the following are High Frequency

Indicators of the Indian economy ?
1. Power Consumption

2.  IIP General Index

3.  10-year G-sec yield

Select the correct answer using the code
below.

{a) 1only

(b) 1and2only
(¢} 2and3only
(d) 1,2and3

Ans-D




29. If the Cash Reserve Ratio is lowered by the

RBI, supply of money in the economy will :

(a)
(b)
(e)
(d)

remain unchanged.
decrease.
inerease.

have ambiguous impact.

Ans-C

80. Which one of the following is the main cause of

the acid rains ?

(a)

(b)

(e)

The Sun causes heating of upper layer of
atmosphere.

The burning of fossil fuels releases
oxides of carbon, nitrogen and sulphur
in the atmosphere.

The electrical charges are produced due
to friction amongst clouds.

(d) The atmosphere of the Earth contains
acids.
Ans-B
81. Biogas is considered to be an excellent fuel

which burns without smoke. The main
constituent of biogas is :

methane

hydrogen

carbon dioxide
hydrogen sulphide

(a)
(b}
(e)
(d)

Ans- A




37. Which one of the following is the deepest,
inland and protected port on the east coast of

India ?
ia) Chennai
{b) Paradip

(¢} Tuticorin
(d) Visakhapatnam

Ans-D

38. The greatest diversity of animal and plant
species is found in :

(a) Temperate forests

(b) Deserts and Savannas

(e)  Arctic and Alpine systems
(d) Tropical moist forests

Ans-D

89. Which one among the following statements
about ‘Drumlin’ is correct 7

(a) It is a streamlined hill moulded in
glacial drift on the till plains.

(b) It is a city located in central Europe.
{¢) Itis ariver.

(d) It is a narrow road in Tibet.

Ans- A



40, Which one of the following is the busiest sea

route and links two industrially developed
regions of the world ?

(a) Mediterranean — Indian Ocean sea route
(b) The Northern Atlantic sea route

(¢} Cape of Good Hope sea route

(d) The North Pacific sea route

Ans-B

41.

Using the code given below identify the type of '
farming on the basis of given characteristics :

1. The produce is consumed entirely or
mainly by the family who work the land
or tend the livestock.

& If a small surplus is produced, it may be
sold or bartered.

3 It is generally small scale and labour
intensive with little or no technological
input.

Code :

(a) Extensive farming

(b) Intensive farming

() Subsistence farming

(d) Commercial farming

Ans-C




47.

Which of the following statements about
Organization for Security and Cooperation in
Europe (OSCE) are correct ?

.

41

There are total 57 states from Europe,
Central Asia and America.

It offers a forum for political
negotiations and decision-making in the
field of early waming, conflict
prevention, crisis management and
post-conflict rehabilitation.

OSCE has the primary responsibility of
providing military security in the
European Region.

The decisions of OSCE are legally
binding.

Select the correct answer using the code given
below :

(a)
(b)
(c)
(d)

1 and 2 only
1, 2 and 3 only
1,2, 3 and 4
3 and 4 only

Ans- A




1.

(a)
(b)
(e}
(d)

48. Which of the following statements about Quad
is/are correct ?

It is a group of four countries, namely,
India, Australia, USA and France.
Maritime cooperation is an important
binding force among members of the
Quad.

The Quad members formed a working
group on COVID-19 vaccines.

Select the correct answer using the code given
below :

1 only

1 and 2 only
2 and 3 only
1,2and 3

Ans-C




49, The National Human Rights Commission was
established under the statute of :

(a) The Protection of Human Rights Act,
1993

(b) The Protection and Implementation of
Human Rights Act, 1993

(¢) The Human Rights Act, 1993

(d) The Human Rights Commission Act,
1993

Ans- A



Which of the following is/are not an official
language(s) of the United Nations ?

1.  Arabic

2. German
3. Spanish
4 Chinese

Select the correct answer using the code given
below :

(a) 1and 3 only
(b) 1and 4 only
(c) 1and 2 only
d 2only

Ans-D

56.

Which one of the following commissions was
not associated with public services in India ?
(a) Aitchison Commission

(b) Islington Commission

(¢) Lee Commission

(d) Radhakrishnan Commission

Ans-D

57.

Who among the following was known as
‘Lokhitwadi’ ?

(a) Keshub Chandra Sen

(b) Gopal Hari Deshmukh

(¢ M.G. Ranade

(d) Gopal Ganesh Agarkar

Ans-B




58. Match List-1 with List-IT and select the correct
answer using the code given below the Lists :
List-I List-IT
(Harappan Site) (Location)
A. Nageshwar 1. Uttar Pradesh
B. Alamgirpur 2. Rajasthan
C. Kalibangan 3. Saurashtra
D. Rakhigarhi 4. Haryana
Code :
A B C D
(a) 3 1 2 G
(b) 4 2 1 3
c) 4 1 2 3
(d}y 3 2 1 4
Ans- A
59. Which one of the following pairs of books and

their authors is not correctly matched ?
(a) Bandi Jiwan : Sachindranath Sanyal

(b) The Philosophy : Bhagwati Charan
of the Bomb Vohra

(¢) Indian Unrest : Annie Besant

(d) Desher Katha : Sakharam Ganesh
Deuskar

Ans-C




680. Which of the following isfare important
markers for the archaeologists to identify an
archaeological site as a ‘center of craft

production’ ?

1. Evidence of raw materials such as stone
nodules, whole shells, etc.

2. Geographical expanse of the site
Evidence of unfinished objects, rejects
and waste material

4. Evidence of variety of pottery

Select the correct answer using the code given

below :

(a) 1only

(b) 1and 3 only

{¢) 2and4only

{d) 3 only

Ans-B

(a)

(b)

(c)

(d)

65. Fiscal deficit in the Union Budget means :

the difference between  current
expenditure and current revenue.

net increase in the borrowings of the
Union Government from the Reserve
Bank of India.

the sum of budgetary deficits and the
net increase in internal and external
borrowings.

None of the above

Ans-C




66. Which one of the following is the largest
component of revenue expenditure in the
Union Budget 2022 — 23 7

(a) Interest payments

(b) Defense expenditure

(¢) Expenditure on healthcare
(d) Subsidies

Ans- A

87. Adequacy of foreign exchange reserves of a
country is captured by which of the following
indicators 7
1. Reserves to import ratio

Reserves to external debt ratio
Reserves to GDP ratio

= @B P

Reserves to monetary aggregates

Select the correct answer using the code
below :

(a) 1and3 only
(b) 1,2,3and4
(c) 2,3 and 4 only
(d) 1,2 and 4 only

Ans-B



68. If all the people of the economy increase the

proportion of income they save, the total value
of savings in the economy will either decrease
or remain unchanged. This phenomenon is

known as :

{a) Crowding out
(b) Crowding in

(c) Paradox of thrift

(d) Paradox of prosperity

Ans- C

The banks are required to maintain a certain
ratio between their cash in hand and total

assets. This ratio is known as :

(a) Cash Reserve Ratio (CRR)

(b) Statutory Liguidity Ratio (SLR)
(¢) Central Bank Reserve (CBR)
(d) Statutory Bank Ratio (SBR)

Ans-B

78.

Which one of the following correctly explains

the change in seasons on Earth ?

(a) Tilt of the Earth's axis

{(b) Rotation of the Earth on its own axis

{¢) Revolution of the Moon around the Sun

id) Interaction of the Earth with other
planets

Ans- A



1.

74. Consider the following statements :

The Great Northern Plains are formed
by basins of three distinct river systems
— the Indus, the Ganga and the
Brahmaputra.

They are one of the most densely
populated areas on Earth.

Between the Yamuna at Delhi and the
Bay of Bengal, nearly 1600 km away,
there is a drop of only 200 metres in
elevation.

Which of the statements given above are

correct ?

(a) 1,2and3
(b) 2and 3 only
(e} 1and2only
(d) 1and3 only

Ans- A

1.

75. Consider the following statements :

Which of the statements given above are

correct ?

(a) 1and2only
(b) 3and4only
(¢} 1,2 and 4 only
(d) 1,2 and3only

Many of the world’s largest mountain
chains exist beneath the sea.

Some mountain chains are revealed as
island arcs.

The mid-oceanic ridges form the longest
The mid-Atlantic ridge rises thirty-three
metres above the floor of the Atlantic.

Ans-D




T8. Match List-I with List-II and select the correct
answer using the code given below the Lists :
List-1 List-IT
(Temperate (Region)
Grassland)
A. Prairies 1. Eurasia
B. Steppes 2. South Africa
C. Pampas 3. North America
D. Veldt 4. South America
Code :
A B C D
(a) 2 1 4 3
(b) 2 4 1 3
(¢ 3 1 4 2
(dy 3 4 1 2
Ans-C
77. Consider the following statements about

millets :

1.

Millets are often referred to as
climate-resilient crops because they can
grow on arid lands with minimal inputs

and maintenance.

Millets are a good source of minerals,
dietary fibre, antioxidants and protein.
Millets, including sorghum, account for
less than 3% of the global grains trade.

Which of the statements given above are

correct 7

(a) 1 and 2 only
(b)) 1and3only
(e} 2and3only
d 1,2and3

Ans-D




&3. Which of the following statements is/are
correct 7

1. Population ageing is the process by
which the share of the older population
becomes proportionately lesser.

2. In most of the developed countries, the
population in higher age groups has
increased.

Select the correct answer using the code given

below :

(a) 1only

(b) 2 only

(¢) Both1land2

(d) Neither 1 nor 2

Ans-B

84. Which of the following statements is/are
correct about  ‘Action for Climate
Empowerment’ (ACE) ?

1. It is a term adopted by the UN
Framework Convention on Climate

Change.
2. This term is related to the Paris
Agreement.
Select the correct answer using the code given
below :
(a) 1only
(b) 2 only

(¢/ Both1land?2
(d) Meither 1 nor 2

Ans-C



85. What is ‘Climate Neutral Now’ initiative 7

1. It encourages organizations and other
interested stakeholders to act now in
order to achieve a carbon neutral world

by 2030.
2. It derives its aims from the Paris
Agreement.
Select the correct answer using the code given
below :
(a) 1only
(b) 2 only

(c) Bothland?2
(d) Neither 1 nor 2

Ans-B

88. Which of the following statements is/are
correct about KAVACH-2023 7
1. Itis a joint coordination committee of all
three wings of India’s armed forces to
protect India’s borders.

2, It iz India’s national level hackathon
jointly launched by AICTE and BPRD to
tackle cyber threats.

Select the correct answer using the code given
below :

(a) 1only

(b) 2 only

{c) Bothland2

(d) Neither 1 nor 2

Ans-B



(a)

87. Which one among the following statements
with reference to the ‘Neolithic Period’ is not
correct ?

The characteristic features of the period
included ground and polished stone
tools, agriculture, animal domestication
and pottery.

(b) This period is also known as the ‘New
Stone Age’.

{(¢) The characteristic features appeared
almost at the same time in various parts
of the subcontinent.

(d) Earliest evidence of agriculture is found
from Mehrgarh around 8000 BCE.

Ans-C
88. Which one of the following is nof a pottery
type ?

(a) OCP

(b) CCE

(c) NBP

(d) BEW

Ans-B

(a)
(b)
(c)
(d)

89. Which one of the following political centers
finds a mention in Ashokan inscriptions 7

Indraprastha
Kaushambi
Suvarnagiri
Kandahar

Ans-C




(

el

(b}

(d)

90. Which one of the following statements with
reference to the ancient Indian coins is not
correct 7

(a)

The Indo-Greeks issued the first coins
bearing the name and images of rulers.
The Kushanas issued the first gold
colns,

The Kushana gold coins were different
in weight from the coins issued by
contemporary Roman emperors.

These Kushana gold coins have been

found from several sites in north India
and central Asia.

Ans-C

o1.

Consider the following statements about the
practice of Vedic sacrifices :

1.

The shrauta (Vedic sacrifices) involved
the use of three fires — the garhapatya
(householder’s fire), ahavaniya
(offeratorial fire) and dakshinagni
(southern fire).

These fires were supposed to be placed
in pits of different shapes, i.e., the
garhapatya to be square, ahavaniya to
be round and that of the dakshinagni,
rectangle-shaped.

Which of the statements given above is/are

correct 7

(a) 1 omly

(b) 2 onmnly

(c) Both 1 and 2
(d) MNeither 1 nor 2

Ans- A




92. Trans-Siberian Railway from St. Petersburg to
Vladivostok does not run across :

(a) Altai range
(b) Caucasus mountains
ic) Ural mountains

{d) Ob and Yenisei rivers

Ans-B

93. Consider the following statements about

Barchans :
1. These landforms are found in Thar
desert in India.

2. The windward side has concave slope
with maximum height at the centre.

3. Two ends of the barchan are called
horns.

Which of the statements given above is/are
correct 7

{(a) 1and2only
(b) 2and 3 only
(¢} 1and3only
(d) 3only

Ans-C



1.

2.

3.

94. Consider the following statements :

Geothermal energy can be used to
produce electricity or its hot water can be
used directly for industry, agriculture,
bathing and cleaning.

Nuclear energy is often cheaper than
some other sources of electricity.

Thermal power stations burn fossil fuels
to create steam to drive the turbines.

Which of the statements given above is/are

correct 7

(a) 1only

(b)) 1,2and3

(¢) 1and 3 only

(d) 2and3only
Ans-B

95. Match List-I with List-II and select the correct
answer using the code given below the Lists :
List-I List-II
(International (Theme)
Convention)
A, Stockholm 1. Hazardous chemicals
Convention and pesticides in
international trade
B. Minamata 2. Persistent organic
Convention pollutants
C. Basel 3. Binding instrument
Convention On Mercury
D. Rotterdam 4. Transboundary
Convention movement of
hazardous wastes and
their disposal
Code :
A B C D
(a) -1 4 3 2
by 1 3 4 2
(e} 2 4 3 1
d 2 3 4 1

Ans-D




(a)
(b)
(e)
(d)

96. The Judgment of the Supreme Court in
Peoples’ Union for Civil Liberties v. Union of
India 2004 is related to which of the
following ?

Right to Shelter

Right against Custodial violence

Right to Information

Right to Speedy trial

Ans-C

(a)

(b)

(c)

(d)

97. Which among the following deals with Habeas |
Corpus ?

State of Ultar Pradesh v. Raj Narain |
and Ors. (1975)

Additional District Magistrate, Jabalpur
v. Shivakant Shukla (1976)

Mrs. Maneka Gandhi v. Union of India
(1978)

Nandini Satpathy v. P.L. Dani (1978)

Ans-B

(a)

(b)

(c)

(d)

98. Which among the following statements
regarding the powers of the High Courts
under Article 226 of the Constitution of India
is not correct 7

It can issue writs of habeas corpus,
mandamus, quo warranto, certiorari,
and prohibition.

Writs can be issued to enforce any rights
conferred by Part-III and for any other
purpose.

This power can derogate the power
conferred on the Supreme Court under
Article 32(2).

Writ can be issued to any authority
under its jurisdiction.

Ans-C



99. Which among the following is not correct ?
(a) Legislation on criminal law, barring
exceptions, is a subject under the
Concurrent List.
(b) Bankruptcy and Insolvency are subjects
under the Concurrent List.
{c) Inter-State trade and commerce is a
subject under the State List.
(d) Banking is exclusively under the Union
List.
Ans-C
100. ‘Basel Convention’, ‘Rotterdam Convention’|
and ‘Stockholm Convention' relate to which of
the following ?
(a) Human Rights of Prisoners
(b) Management of Pollutants
{e) Conservation of Wetlands
(d) Conservation of Rivers
Ans-B
101. Which of the following is/are not correct about

the Mother's Absolute Affection Programme ?

1. Allows all pregnant women to absolutely
free and no-expense delivery in public
health institutions.

2. Provides assured, comprehensive and
gquality antenatal care.

3. Promotes undiluted focus on breastfeeding.

4. Provides medical and nutritional care to
severely acute malnourished children.

Select the correct answer using the code given
below :

(a) 1,2and3only
(b) 2 and 3 only
(c) 1,2and4only
(d) 3 only




Ans-C

102, Which of the following statements about the

Right to Information Act, 2005 is/are correct ?

1.  There shall be not more than twelve (12)
Information Commissioners.

2. The Chief Information Commissioner
shall hold office for a term of five years.

3. The Chief Information Commissioner is
eligible for reappointment.

Select the correct answer using the code given

below :

{a) 1only

(b) 2only

(¢) 1and 2 only

d)i 1,2and3
Ans-B

103. Who among the following was the first

pro-tem Speaker to be unanimously elected as
the Speaker of the Lok Sabha ?

(a) Rabi Ray

(b) Hiren Mukherjee
(¢) Somnath Chatterjee
(d) P.A. Sangma

Ans-C



1.

(d)

104. Consider the following statements with

reference to Jainism :

Vardhamana Mahavira attained
Kaivalyajnana outside the town of
Jrimbhikagrama, on the banks of river
Rijupalika and in the field of a
householder named Samaga.

The state when the Karma particles

actually begin to flow towards the Jiva
to bind it is known as Asrava.

Which of the statements given above is/are

correct ?

(a) 1lonly

(b) 2only

(c) Bothland?2

Meither 1 nor 2

Ans- A

105. Consider the following pairs with reference to
textiles in Southern India :

(Tax) (Meaning)

1. Panjupeeli : on cotton yarm

2. Nulayam :  on cotton thread

3. Tari kadamai : on silk clothes

4. BSella : on silk thread
Which of the pairs given above is/are correct ?
(a) 1only
(b) 1and2 only
(¢©) 2,3 and 4 only
d 1,2,3and 4

Ans-B




(a)
(b)
(c)
(d)

108. Which one of the following animals does not
come under the category of four noble animals
(Maha-Ajaneya Pasu) carved on the round
drum
Sarnath ?

{Anda-Phalaka) of the lion capital at

Deer
Lion
Bull

Horse

Ans- A

107. The ruler Vindhyashakti during the period
preceding the Gupta Age is associated with
which one of the following dynasties ?

{a) Vakatakas

(b) Chalukyas

(c) Kalachuris

(d) Sungas
Ans- A

(a)
(b)
(e}
(d)

108, The ancient Indian medical treatise for horses
called Ashvashastra is attributed to which one
of the following persons ?

Vagbhatta of the seventh century
The sage Shalihotra

Bhartrihari of the seventh century
Varahamihira of the sixth century

Ans-B




109. The celebrated group of poets in medieval
Mathura and Vrindavana ecalled the
Ashta-Chhapa were the successors of which
one of the following medieval Bhakti Saints 7
(a) Kabir of Benaras
(b) Chaitanya of Bengal
(¢) Guru Nanak of Punjab
(d) Surdas of Braj region

Ans-D

110. Consider the following statements about

Laterite soil found in India :
1. Laterite soil is found in high altitudes of
Himalaya.

2. It is a very fertile soil.

3. It is a red colour soil due to presence of
iron oxide.

4. It is poor in Nitrogen, Potash and organic
matter.

Which of the statements given above is/are

correct 7

(a) 3only

(b) 2and4only

{(c) 3 and 4 only

(d) 1,3 and4only

Ans-C



(a)

(b)

(c)

(d)

111. Which of the following statements about Ragi ||
crop grown in India is correct ?

It is a millet crop grown in drier parts of
south India.

It is a Rabi crop sown between
November and March.

It is a rainfed crop grown on red, light
black and sandy loam soil.

It is grown between 20 degree Celsius
and 30 degree Celsius of temperature
and 50 — 100 em rainfall.

Ans- A

112. Consider the following statements about rock

gtructure :

1. Conglomerates are clastic sedimentary
rocks.

2.  Slate is a non-clastic sedimentary rock.

3.  Granite is a plutonic igneous rock.

4, Basalt is an extrusive igneous rock.

Which of the statements given above are

correct ?

(a) 1,2 and 3 only

(b) 3 and 4 only

ic) 1and 2 only

(d) 1,3 and 4 only

Ans-D




113. Consider the following statements about

Ramsar Wetland sites in India :
1. Gahirmatha is the habitat of Olive
Ridley Turtles.

2. Chilka lake is the habitat of Irrawaddy
Dolphin as its flagship species.

3. Nalsarovar Wetland is also the habitat
of Indian Wild Ass (Khur).

4. Tso Moriri Wetland is the habitat and
breeding ground of Black-necked Crane.

Which of the statements given above are

correct ?

{a) 1anda3only

(b) 1,3 and 4 only

(¢} 2and4only

(d 1,2,3and4

Ans-D

114. Which of the following soil formation process
takes place in Phumdis (floating fields) in
Loktak Lake of Manipur ?

(a) Laterization
(b) Podzolization
(c) Gleization
id) Calcification

Ans-C



115. Which one of the following statements is

correct about Spring tides ?

(a)

(b)

{c)

(d)

High tide is higher than average high
tide and Low tide is higher than average
low tide.

High tide is lower than average high
tide and Low tide is higher than average
low tide.

High tide is higher than average high
tide and Low tide is lower than average
low tide.

High tide is lower than average high
tide and Low tide is lower than average
low tide.

Ans-C

119. The journey of the First Phase of Sagar

Parikrama Yatra, an initiative of the
Government of India, was started from :

(a)

Andaman and Nicobar [slands

(b) Maharashtra
(e} Karnataka
(d) Gujarat
Ans-D
120. The annual Kheer Bhawani Mela is organized

at :

(a)
(b)
(e)
(d)

Kabaw Valley
Kashmir Valley

Dah Hanu Valley
Upper Dibang Valley

Ans-B




121. NISAR satellite is manufactured jointly by
Indian Space Research Organisation and :

(a) Japan Aerospace Exploration Agency

(b) National Aeronautics and Space
Administration

{¢) Russian Federal Space Agency
{d) European Space Agency

Ans- A

124. What are Airawat, Param Siddhi, Pratyus and
Mihir ?
(a) Super Computers of India
(b)  Battle Tanks of India
(¢)  Supersonic Missiles of India
(d) Indian Naval Ships

Ans- A



